SBER

B % 2A11H B 7& 28118

= 15 RINDVEST SV RAE = 15 mINADES S RBE

248 %1—3§ﬁ‘3 F2HE &4 F1-381E F2886

o T HE4-6HE FAHE iﬁ Ea-6E FARE

= E1-8E FE8HA = E7-8:4A FEeHE

RUF |h—bYAN EFRE TR 714 H4] RUF |f=bHAF  ERE FRE 7HIAHAN
kickoff 20-5-20% = B kickoff 20-5-20% = E]
F1HE g SBRE TSURRE |£F #EY F1HE 5 2BRE T5URRE | =%

= _ t=BIEH = AT

9:00 3 d)I|FC 1- 3 —FA &)l 9:00 15 HEA 1 -1 IMBSC 1 (2)
F2RE = &1l $F2HE = |
9:50 9 XFHEKE 0- 5 HEY A —F 9:50 |21 —*B 1- 0 KTFlIsc INHE
EREN = # FIHE = —-=%
10:40 |5 FBIEHRA 0- 2 fhJIIFC HEY 10:40 |17 #EB 0 - 11 #EA AT
RS |5 thEn RARE |5 £
11:30 |11 #EY B 1 - 2 EEREE ==J1| 11:30 |23 Z#SC 1- 2 —%B #HE
FE5HE [ HEY E5HE [ —i
1220 |2 ZFA 9- 0 #LFSC ¥ 1220 |14 INHESC 0- 3 mEFC —F
%GE?&% _[%l_ :# %GEK€ _'%_ /J\*ﬁ
13:10 | 8 HEY A 5- 0 71=bIFB 5F 13:10 |20 KTFJISC 2-0 H#JIsc M
FIRE = HEY FIRE = AT
14:00 |4 f=bBI1EHA 5- 0 sLFSC f=bI1E% 14:00 |16 #EB 0- 3 mEFC I
EX B =] R =537 F8HE = R |
1450 |10 #&EYB 2- 1 bE4B SF 14:50 |22 Z#SC 0- 1 #lllsc mE
BH & 2A11H

= 15 =H5THYI Sk

=i5 F1-37E F2ta

5 F4-6RE FIRE

NUF [F=LH4AF 7144}

kickoff 20-5-20% = 3
F1RE | BF— LT IURRE 15137

900 (13 HIY  0- 8 FBEAX |sw

F2E g |

9:50 16 1=BIERY 0- 1 MEFC =614

FIWE (g =17

10:40 (14 ZEEBEHE 1 - 1 BIlY mE
$B4AE g e

11:30 (17 L FSC 12- 0 fblEAY ]
FOEE g NE

12:20 |15 f=bBIFHEX 11 - 1 2£EBEE | 6E34
FoHE & T F— L3R =5 [£75

13:10 |18 mEFC 0- 9 HLESC EF
FIRE

FE8HE




SBER

B & 2A12H B & 2A12H
= 5 FINADVETSURAE = 15 FINAVES SO RBE
o148 F1.2HE B3 KT o8 ®1.288 WE =F
= %3, 438 =F 4F z %3, 48E Pl #EY
HiE %5 6A B kM Rt %5 63A B EAEB
RNOF k=LY N EFE FTRET7ITAY/E NUF |h=LHYA(b 7zAHAb
kickoff 0-5-20% = ¥ kickoff 20-5-20% EET
F1RE g SBRE TIURERE | En | # F1HE | g RBRE JSURRE [ mE =F
000 | @ #HEYSC 13-0  HWEFC | kTl 000 | D ZHA  5-0 RTBEE| .oy
B2RE | & moy | # F2EE |5 _
950 | ® fbBIFHEX 5-1  ATFIISC ALt 950 | @ WEFC 0 -1 —%B =% X¥
FIHE 1§ 5 (£15 # F3IHE = _
10:40 @  /nBSC 0-6 mJIIFC AT 1040 | @  dIIFC 0-2 peya |PE =%
F4HE B # F4HE = chl|
1130 | @ =%97v52 1-0 sEsc | F 1130 |@ $#®EA 1-1 KTFisc | #&Y
B5RE | & I L
12:20 a #EYSC 4-0 f=bIERX [T 12:20 A —FA 4 -0 —*B AT
FoHE # R # EEN S # &R #
1310 | b ZFI7VH9R 0 -2 HJIIFC a 13:10 | B HEA 0-0 HEYA A
B & 2H18H
£ 5 =H5THI SR
A48
25 AED
ROF [f=LHAF ToLAAE
kickoff 20-5-20% z H
F1HE | g BF—LTIUREE AHEYQ)
900 | = t=bIEnx - Z#Huruoz| BEQ
REE | g h)11(2)
9:50 = —%B - LA =6 (X%:(2)
FIHE | g A
1040 |[R  #EUsc - g JIIFC
FA4HE | 5T -
11:30 [R  Z=FA - HEY A "
12:20 FER




